DATE

k4

B
M
a
>

ERELN
3 xR unn
MEmpH
o nBER
Lﬂgmgiﬂﬂ
> ORZ0O
m<§m<m
DEelbm
mnAaEATO
3 5
2% | 8
o | 4
= A
& 15 s

z oz

MEASURED AT

37'_6”

PC 99604

__/
| )
I : =
—— S ST B — A i w N
NIy . ol g A TN
S 2

DEFLECTOR ANGLE OF SLOT GUARD SHOULD BE
POSITIONED IMMEDIATELY DOWNSTREAM OF SLOTS.

LIMIT OF PAYMENT FOR SRT-350

DO NOT ATTACH RAIL TO
POSTS 2, 3, 4. 6, 7,8 9810

PC 3G ATTACHED TO POSTS
2, 4,58 9&10

PC 3000G

PC 9852A

PC 700A

e
i

33 3/4"

. TRAFFIC

PC 9236

2 - PC 5968G TO PREVENT PLATE ROTATION7
(THRU 5/8" DIA HOLES IN PL & BENT)

OFFSET NOTE:

THE POST OFFSET DIMENSIONS ARE GIVEN TO THE CENTER OF THE TRAFFIC FACE
OF THE BLOCKOUTS, EXCEPT AT THE FIRST TWO POSTS, WHERE THE DIMENSION IS TO

STANDARD GUARDRAIL

(STEEL POSTS & BLOCKS)

BACK OF RAIL . 312" 312" 3~ ly2" 32" 31 1y2" ) 3~/ l2" 312" v 312" ! 6'-3" ! 6'-3" !
! | | | x | | <l | e | -l | 1
LLERT-35Q i i | Pc 336068 I, | | D  C 1 . Bl pc 33606 & Pc 3340 Al Pc 33606 & Pc 33406 | I
| i | | pc33406 1] | | | 1 -+ i
N ¥ HH T NN T THEE N =T 1] e e R R e =
- HM | 1| | 1 | | 1| bid] s | I i 4] [ — lglﬁf" S—t— Hh
N | i | i | i | | | i
i i | ! | | i | i - -
Il ! | 1 | | ! ! | N/ R
[ H Lrcss |') H H 0 Lresso | H H pe 305/ | & re 55008 onven o2 3360l 1|
1] 1] 1] 1] 1] 1] 1] 1] 1L pe 33606 & pe 33406 || 8 REQD AT PC 7004 I
il n n n [ ] N n n | 1| 8 REQD AT EACH PC 99604 | | | I
i H H H H H H H H H i
L || || || || || || || || | ||
() || L L L] L L || L | |
| |
(19 ©, (& @ ® ©) @4 O | B
b Yosn ) 0

ATTACH RAIL TO POST #5

PC 35806 W/PC 33406 & PC 33007[ pC 40638 pC 40635_\ PC 40638\

PC 35006 W/PC 33406G & PC 33006 —
DO NOT ATTACH RAIL TO POST

PC 41478

PC 3360G W/PC 3340
INSTALL THRU ENLARGED
AREA OF SLOT

/ PC 35806 W/PC 33406 & PC 3300 PC 35806 W/PC 33406 & PC 33006/\ \ |
y DO NOT ATTACH RAIL TO POST DO NOT ATTACH RAILS TO POST z -
e s | e g ) e i 1 \ Jo
~ =
PC 356 PC 356 OR 96 / PC 346 ‘ PC 7056
PC 36 PC 36 INSERTED INTO POST #I
PC 40758 PC 40758 PC 40758 PC 36 - Pe 98524 PC 98524 .
~ ~ ~ 1 ; Fg} & PC 39006 OPP END
a4\ ~ 7\ a4 \ - PN\ a2\ ~ 2a 2\ K82\ | | NN (\W/\\\ ‘
| | PC 34976 W/PC 3340@—/l | pC 99616
I I 2 - PC 33006 |
O Q O ﬂ—% :—-é_l ''''' \ J@l*_*—_IT}
PC 34786 & PC 3340
S
\Vt
PC 7666
L ] ] ~
PC 7366
SECTION "D-D" SECTION "c-C" SECTION "B-B" | | L '
(6 POST #5) (6 POSTS #4, #6, #8, #9 & #10) (6 POSTS #3 & #7) SECTION "A-A" ENLARGED VIEW @ POST #I
(6 POST #2)

/—PC 4/478

PC 3000G W/ PC 39/06 EACH END

THE CENTER OF THE TRAFFIC FACE OF THE POST. OFFSET POINTS ARE TO BE

LOCATED BY CHORD MEASUREMENTS AT THE BACK OF THE RAIL EQUAL TO THE
NOMINAL POST SPACINGS SHOWN. POSTS ARE TO BE SET APPROXIMATELY RADIAL

TO THE RAILING AT EACH POST LOCATION.

INSTALL PLATE SO
SLOT OPENING IS

BEARING PLATE
ORIENTATION

—— PC 35006 W/PC 33406, PC 33206 & PC 33006

/-— PC 923G

— PC 775G

SEE ORIENTATION
DETAIL

2 - PC 5968G TO PREVENT PLATE
ROTATION (THRU 5/8 " DIA HOLES
IN PL & BENT)

PROFESSIONAL

ENGINEER
NO. 1915-C

THIS WORK WAS PREPARED BY ME
OR UNDER MY SUPERVISION AMND-~

GONSTRUCTION. QF THIS—PROJECT

WHTBE"UNDER MY OBSERVAHON"

FED. ROAD FISCAL | SHEET | TOTAL
DisT. No. | STATE|  PROJ.NO. | "voup” | "NO. | SHEETS
HAWAI HAW 30A-01-97M 1997 13 24
BILL OF MATERIAL
PC | QTY DESCRIPTION
36 7 \12/12"/BACKUP (GUARDRAIL)
96 I 12/12'6"/6'3/S (GUARDRAIL)
346 I 12/12'6/5 SRT-1 (GUARDRAIL)
356 I |12/12'6/6'3/S SRT-2 (GUARDRAIL)
7004 | | |CABLE ANCHOR BRACKET
7056 | | |2'9x51/2 "PIPE
7366 | 2 |5'0 TUBE SLEEVE
766G | 2 |I/4 x 18 x 24 SOIL PLATE
7756 | | |5/8 x 6 x 8 BEARING PLATE
9236 I |12/BARRIER/98" (TERMINAL)
30006 | |3/4 x 6'6 CABLE
33006| 22 |5/8" WASHER
33206| | |3/16 x13/4 x 3 WASHER
33406| 77 |5/8" HEX NUT
33606 53 |5/8"9x11/4 " SPLICE BOLT
33806\ 8 |5/8"9 x11/2 " HEX HD BOLT
34786 4 |5/8"9 x 71/2 "HEX HD BOLT
34976 2 |5/8"9x 91/2 "HEX HD BOLT
35006\ 2 |5/8"9 x 10" POST BOLT
35806 8 |5/8"s x 18" POST BOLT
39006 | |I" WASHER
39106 | 2 |I"HEX NUT
4063B| 8 |60 POST 6x 8
40758 8 |/4"BLOCK 6 x 8
41478 2 |3'9POST51/2x71/2
59686 2 |I16d NAIL SRT
98524 | |STRUT ASSEMBLY
9960A| 4 |SLOT GUARD
996/6| | |3/8x 3 x4 PLATE WASHER
3
8
STATE OF HAWAER <
DEPARTMENT OF TRANSPORTATION 3
HIGHWAYS DIVISION

SR1-350

SLOTTED RAIL TERMINAL

HONOAPIILANI_HIGHWAY RESURFACING

Kahana to Honokahua Bay

Project No. S0A-01-9/M

SCALE: Not to Scale

DATE: March, 199/

SHEET No.

/| OF | SHEETS

(RA)N:\DOT~MAUI\USTATION\ SRT350

13




